Answer on Question #37962, Physics, Mechanics | Kinematics | Dynamics

Let index one corresponds to sphere, and index two to cylinder. Hence, one has set of parameters
R, m, p for sphere and R,,h , m ,p for cylinder (R is radius, h is the height of cylinder, m and p are

mass and density respectively).
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Mass and density of cylinder are equal. Hence, m =%n p Ri =hn Rip , which yields R§:

The moment of inertial of solid ball is J 1:%m R? and of cylinder J ZZ%m R} . Hence,

J,_4R;_ 3h
J, 5R, 5R,

Thus, which moment of inertia is higher depends on proportions of height of cylinder and radius of
spherical ball (if their masses are equal):

5R,
J1>J2:>h>T

5R,
Jl<J2:> h<T .



